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Plan A--S4 Regular (09/2021-06/2022)
1. Basic Economic Concepts GEAEE LS

2. Firms and Production (&G4 )
3. Market and Price (755 8{E#)

4. Competition and Market Structure (353 B T 5545H%)

S. Comprehensive Exam Skills Drilling -- Including mock exam practices)

(ZHEEASTTIIR - BHRAS U ERE)

K.FE.C. sir %Ik "Econ % | (X4 Econ — ) » |5 E 2/ Hk—Hks :

1. HH Unlimited wants 27540 Scarcity ? FEP#E2E §& a0 ?

2. EEPCE B A BEEBR 1R A WEEFDITER - 85 A DBSRENAS RS
A - HRFIITAFAY LB E B A SR e ? EE - BRI SURRFT ? RFERE
s |

3. fHERRELE (For whom to produce) ? R B R ? Al (o] DIF:E ?

Pt - XBERAERE=AMNG - KRELHEE  REFEW |

4. THIREFAR RTKEC. sir BEBH | ERIGRRES B REEEAIBEM ? B ?

XaEEEH P ?

5. @ K(Demand) - f3K B (Quantity demanded) - {itf(Supply) - {2 (Quantity supplied)
B3 (Quantity transacted) - SERE D ERTF 7 HEERR S S | B K BRI (shift) ?
fHPEE % X R 845 moving along the curve ? RE BB EIRER T A SEAH ?

6. FE¥EfH 4y T.(Simple division of labour)RI1## %4> T.(Complex division of labour)# {a] 4y
B ? 7398 — Lol B 5 BB fERRBH 7

7. fHE&EEEY)R(Producer goods) I :(Consumer goods) * F.FH(Private goods) 5 3¢
FiS:(Public goods) * PAZ4E Plan A FiE8 & i %R Y5 (Free goods) R H¥) 5:(Economic
goods)FEE..... REFEFEARRT » REERA TTHFIEM ? BEFFXAEMH ?

8. ™ | WNIZESEE) Final examination 58 b6 4 7 XAV (Types of factors of
production) ¥ 52 & 4= 2 B (Types of production)......K.F.C. sir » SRR 3 BERIE |

9. EETRSHHtME(Labour supply) 5 4: # J1(Labour productivity)is » HR{E AV F39 THE
¥ ¥ (Average working hours)FI§E T {ERFBi(Total working hours)¥ ¥ SH...... B |
KW | EREPHRDH ? RAFERFEIBERAY |

10. B EEHH MG 7 M (Ownership of firms) Ky - REEFMOI KA | FaF—M@E
Mind map » T /<3 FR I Public enterprise(/)#1P>3€) - Public corporation(Z> 8/
5]) * Public limited company(/A AR/ B)EISH ?



Plan B--S5 Regular (09/2021-06/2022)
. Efficiency, Equity and the Role of Government (% ~ A\EHIBFHI A ®)

[a—y

2. Measurement of Economic Performance (ZBRIFNEE)

=

National Income Determination and Price Level (B R AR E K ERE/KFE)

-

Macroeconomic Problems and Policies (Fiscal Policy)

(FEEAEENBER) (A BUEBER)

5. Comprehensive Exam Skills Drilling -- Including mock exam practices)

(ZHEEAEITHIER - BREHRAEZURBREE)




K.F.C. sir @5EJkH Econ Kl ; (L4 Econ iEHR) » HFERTAMA

1. If marginal cost of a profit-maximizing competitive firm is higher than the market price,

the firm will

A. raise the price of it product until marginal cost equals price.

(T | 5% - §E1EIEE 0 KF.C. sir 3R | )

B. raise its output until marginal cost equals price.
C. reduce its output until marginal cost equals price.
D. reduce its fixed cost until marginal cost equals price.

K.F.C. sir @7 Regular Course (Y8 S Poriifeml LB EEX -

2. The following table shows the total cost schedule of a price-taking firm which has a fixed

cost equal to $20. Complete the following table.

Total product | Total cost (S) TFC () TVC(S) | ATVC (S) | Marginal cost (S)
(Units)
1 40
2 65
£ 95
4 130
5 170

Suppose the market price is $30. At the profit-maximizing output level, the firm’s

profitis $ :
(RECALL: The profit maximizing output = P=

> units)

Total Revenue: Px Qt=S X
Total Cost (at ____ units):
Total Profit =Total Revenue ____ Total Cost
=$ -8
=$
K.F.C. sir @7 Regular Course By#§ & P iediemLl FEEEX -

3. The supply schedule of a firm is the same as its marginal cost schedule because
A. marginal cost will increase when the output of the firm increases.

(I | [5)%8 > SEIIEN$4 0 KE.C. sir L3 | )

B.  we can tell the quantity of the good the firm plans to produce from the marginal

cost schedule given the price of the good.

C. the quantity of the good the firm plans to produce depends positively on the

marginal cost of producing the good.

(I | F% - SEI7ENEAE 0 KEC. sir @SR )

D. we can tell the price of the good from the marginal cost schedule given the

quantity of the good.

RY RN E......B and D - RRBEMEBFWAHERE !)

K.F.C. sir @7F Regular Course Ay BT 1 4L _ERBE 25X -




4. The following table shows the total cost schedule of a price-taking firm which has a fixed
cost equal to $15.

Quantity (units) Total cost ($)
1 40
2 65
3 95
4 130
5 170
Suppose the market price is $40. At the profit-maximizing output level, the firm’s profit
and total producer surplus are $ and $ respectively.

(Producer Surplus 1 Profit F R —#A0E 2 EME AR E ? RISHS | )
K.E.C. sir @7F Regular Course N E 5T P reeHemMLl FEEEE -

5. Abeekeeper keeps the bees for their honey.  The bee-keeping benefits the farmers in the
orchard nearby because the bees help pollinate the fruits in the orchard. Which of the
following statements about this case is correct?

A. There will be a divergence between private and social benefits and the honey
is over-produced.

B.  The beekeeper should be subsidized by the government to improve economic
efficiency.

C. If the value of honey is lower than the value of fruits. there is no need for the
government to intervene to correct the externality.
D.  There will be no divergence between private and social benefits if the orchard

nearby is owned by the beekeeper.
K.F.C. sir @7 Regular Course FIFEE I PorafifefLl EREEEX -

6. Consider the following Gross Domestic Product (GDP) data about a country.

GDP components $ Million
Private consumption expenditure 300
Government consumption expenditure 500
Gross domestic fixed capital formation 230
Decrease in stock 50
Subsidies 30
Depreciation 50
Total exports 140
Total imports 180
Direct taxes 30
The GDP at factor cost is $ million.
(RERWH..... SEIWEE - RRARFOEBEEEH FEAHE ! )

K.K.C. sir §7F Regular Course {40 - FEeRAe MLl B EHEX -



8.

2.

The following diagram shows a production chain of'a good in Economy X

Raw
materials

$80

Y

from
Australia

Raw

$70

materials
from
Thailand

Factory
in
Economy

$250

$200 Export to China
$180 Wholesaler
in
Economy
X

Retailer
in
Economy
X

$400

Consumers

(860 sales
tax
inclusive)

of
Economy
X

The contribution of the production chain to the Gross Domestic Product (GDP) at market
price of Economy X is $

K.F.C. sir 7 Regular Course MEH‘PWMEH

Refer to the following table about an economy.

Growth rate (relative to previous year) (%)

Year | Year 2
Nominal GDP 5 0
General price level - 1
Population -1 2

Based on the above information, which of the following statements are correct?

A. The per capita nominal GDP growth rate in years 1 and 2 are
% respectively.
B. The real output growth rate in year 2 is

%.

C. The general price level decreased in year 2.

(EE | 5% > FIEI#HAE - KEC. sir @@EHRE )
D. The per capitareal GDPinyear2is
K.F.C. sir @7F Regular Course By EH FF- Il LEEEX -

Many Hong Kong construction workers stay in China to work for several years.

%.

% and

If they

are attracted by the job opportunities offered by new infrastructure projects in Hong
Kong and return to seck jobs., what will be the effect on the unemployment rate in Hong

Kong?

A.  The unemployment rate will decrease.
B.  The unemployment rate will increase.
C.  The unemployment rate will remain unchanged.
D.  The effect on the unemployment rate cannot be determined.

K.F.C. sir @§7f Regular Course R E I ¥ ifie il LB EX -




10. Which of the following will lead to a decrease in aggregate demand?
A. afall in private saving
B. arise in investment expenditure

C. arecession in our trading partners
D. afall in the progressivity of income tax

K.E.C. sir @7F Regular Course {85 - FE4HMMLL_FEE&%x -




Plan C--S6 Regular (09/2021-03/2022)
1. Money and Banking (Ef%E2§R1T)

2. Macroeconomic Problems and Policies (Monetary Policy) + (Revision: Fiscal Policy)

(FEREHRIEMBER) (BWECR) + (B : MBBER)
3. International Trade and Finance (BpE % 5Ff15:88)
4. Elective Part 1 GE{ZET(—))
5. Elective Part 2 (EEEIT(2))

6. DBQ EHzlI%

7. Comprehensive Exam SKills Drilling -- Including mock exam practices)

(ZHEEABTTHISR - BB A HABRKE)

K.F.C. sir SRkt " Econ tH AFEHIFE - RIFESFIFIEFL -

1. Refer to the following balance sheet of a banking system.

Assets ($ million) Liabilities ($ million)

Reserves 400 | Deposits 1,200

Loans 800

Suppose the required reserve ratio is 25%. If all banks loan out their excess reserves,
which of the following statements about the above banking system is correct?
A.  The amount of reserves held by the banks will be $
B.  The maximum banking multiplier will be
C.  The money supply will be $
D. The maximum possible increase in loans will be $ and the
maximum possible increase in deposits will be $

FEFRE > RIPARBRIRT —RE ! )
K.F.C. sir @7F Regular Course HI#EHE - FAHARMLL_ EREE &K -



2. Study the diagram below.

Change in GDP deflator (%)

35
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.M 2.5
2

\ 1.5
1
\**—— 0

Ny 5

0
Oct 2014 Jan 2015 Apr 2015 Jul 2015

The diagram shows that during the period from October 2014 to July 2015,
A. the nominal GDP was rising.
B. the purchasing power of money was increasing.
C. the growth rate of nominal GDP was lower than that of real GDP.
D. the realised real interest rate was lower than the nominal interest rate.

(RARFER L » RERECARIE | )
K.F.C. sir @7 Regular Course {8 &I P ariiembl FEEEX -

3. The monetary base decreases when
A. the commercial banks hold more excess reserves.
B. the commercial banks sell government bonds to the public.
C. the central bank sells government bonds to the commercial banks.
D. the central bank decreases the required reserve ratio.
(FEFIFHH > 3 Econ FIEEERR  F 2 RMER!)

K.F.C. sir @7F Regular Course (& Pl FREEEX -

4.  Which of the following taxes are progressive?

(1) Toax rate (2) Tax rate
. Taxable _» Taxable
0 " income 0 income
4
) Tax payment ) Tax payment
s
0 _ Taxable 0 . Taxable

" income income




BRIEF EXPLANATION

For TAX RATE:

Option 1 is a (progressive / proportional / regressive) tax
Option 2 is a (progressive / proportional / regressive) tax
For TAX PAYMENT:

Option 3 is a (progressive / proportional / regressive) tax
Option 4 is a (progressive / proportional / regressive) tax

K.F.C. sir @7f Regular Course Fyf§ S oMLl FRE X -

5. The travelling allowance subsidy introduced by the government increases the

in GDP and results in a shift of the aggregate
demand curve.
A. government consumption expenditure ...... rightward
B. government consumption expenditure ...... leftward
C. private consumption expenditure ...... rightward
D.  private consumption expenditure ...... leftward
FEFEE  FEAEC..... . BRFBERAE )

K.F.C. sir 7 Regular Course FfEH oLl EREEX -





